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introduction

Our laboratory is silviculture and forest ecology

AIM of this discipline

“From scientific approach, to support silviculture skills and forest
maintenance to use forest resource sustainably ”

But no one study outside of this campus

Many of us don’t have the chance to go to the site where our study is
needed.

Today, | talk about my experience during this summer, which was
related to our laboratory




Tadami: insect damage
Q. What happened here? A. Japanese oak wilt
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conifer

broad-leaved tree

shrub

Why are there
three
vegetation
types here?




This is because heavy snow

>teep slope side Ridge line Other area

igh potential of avalanche  poor nutrients, low moisture... = = Beech forest
=trees can’t grow tall = pine is dominant spiecies (potential vegetation|




Vegetation recovery
at Mt Fuji
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Do you know the difference of this two picture?
What is the cause of death?

MFlowering synchronously ‘NEaten by deer






Deer damage

Bear damage




Forestry company (D
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Forestry company @)

SRR EFICIEEMR~)>EMSIRFTEEFT—ELTITOTLS
- FSCEREE AR 75

-REMNSII REGTHEA

ZRIREM A D

RIS BERE-VUDMEESO TR ELZHT
ex (XIRDEFH. I[BE. FEZDLEICU{REREAL, FEfhoL..




Why doesn’t beech flower every year?
What does control the expression of flowering gene?
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Flowering is
controlled by two “now”
pathway environment
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